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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 -5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Question Nos. 6 — 8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Question Nos. 9 — 11 and 24 - 26 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Question Nos. 12 - 15 and 27 - 30 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
Teh foshdl o1 STWR A W hIs J9E 737 8l (F& fashed gin)
(e1) qui wfenfirar #
(%) ki |
(|) eiUsRIcHe Sfaeifiar o
(3) SHw A
A seller cannot influence the market price under (Choose the correct
alternative)
(a)  Perfect competition
(b)  Monopoly
(c) Monopolistic competition
(d)  All of the above
TR ATl <hl ohis Teh oIl sidTsy |
State any one feature of monopolistic competition.
= fafyr grr weh a%g it win 1 Soi 3@ ol & et Srar @ 99 afe (wd
ferspe gf)
(1) a&g 1 Hia et 2, @ 360 W = 5@t 2
(¥) a%g I FHwa T g, @ 39 | =9 9edt 8
(®) % 1 Fma it 2, @ 39 W = o @ @
(3) &g <l hiwd wgdl &, dI 38 W o4 Hedl |
Demand for a good is termed inelastic through the expenditure approach
when if (Choose the correct alternative)
(a)  Price of the good falls, expenditure on it rises
(b)  Price of the good falls, expenditure on it falls
(c) Price of the good falls, expenditure on it remains unchanged
(d)  Price of the good rises, expenditure on it falls
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O [Nl e

Teh I&g ! AT % SR H iy W awhed qU1 AT STA1 8 96 39H HHfeTiad
756 &1 (WEl forshew gim)

(1) a%q ! HhHd
() &g T AE
(@) w9g smEfy

(3) 3w weft

Any statement about demand for a good is considered complete only
when the following is/are mentioned in it (Choose the correct
alternative) :

(a)  Price of the good

(b)  Quantity of the good
(c) Period of time

(d)  All of the above

JHRMEE g <hl gftamsT ST |

Define indifference curve.

IcqTeT HHTEHT HHT b1 3719 3R 3Heh! foivamd sramsy |

Give the meaning and characteristics of production possibility frontier.

“FI1 IcqTeH B I TEET I SATEAT HIT |
Explain the problem of “what to produce”.

TS 9K I T H iy’ R winamn ¥ gfy’ % e 9 Fifw |
Tt
‘T 8 3N ‘S [T * o1 FEEmT |

Distinguish between ‘increase in demand’ and ‘increase in quantity
demanded’ of a good.

OR

Explain the meaning of ‘Budget set’ and ‘Budget line’.
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9. Ui gfcefirar St “arer % SR g qui 7 sy Y samen fifw | 4

Explain “perfect knowledge about the markets” feature of perfect
competition.

10. U HEAIcHS 3C@W hl TgEdl ¥ EgE HH| gfdeemyd @@ &1 79
qydnsa | 4

Explain with the help of a numerical example, the meaning of
diminishing marginal rate of substitution.

11. SR gfd s gieamn e | ‘mat f hiua’ wres 1 samen Hifse e

%11 9fd | itgd & dehd 3 | 4
Jrera

e shad Tsh AT <hl SIS <hl AT ST Idl 8 3T T ANl ! R

@ A1 &, dl Hurd 3cdTg 3T et Icd1g T T TGN BT 2 FaTsy | 4

Define market supply. Explain the factor ‘input prices’ that can cause a
change in supply.

OR

Give the behaviour of marginal product and total product as more and
more units of only one input are employed while keeping other inputs as
constant.

12. 9 T a%] il $Hd T 10 Ui $H1E T Fgaht T 12 fd 318 Bidt 7, I 8eh!
HIUT-AET 20 fderd A & Sl 8 | SR "I hl HIFd o= Bl IReheH
Hifsre | afe el Fimd T 10 Ui 3R T dget T 13 9fd 3 B IE, @t
STkl ATT-ATN | fohd gfawrd afted= grm 2 6
When the price of a good rises from ¥ 10 per unit to ¥ 12 per unit, its

quantity demanded falls by 20 percent. Calculate its price elasticity of
demand. How much would be the percentage change in its quantity

demanded, if the price rises from ¥ 10 per unit to ¥ 13 per unit ?
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13. T q TfeTehT i T hifaTT
3T | siEd fted i FA
(shral) | R gfEd | @ () | AR (3)
A () | I (%)
1 120 40
2 60 56 232
3 54
4 30 54
5
Complete the following table :
Output | Average | Average | Marginal | Total
(units) Fixed | Variable | Cost () | Cost (%)
Cost (T) | Cost ()
1 120 40
2 60 56 232
3 54
4 30 54
5

14. Tr=faRaa ATwst @ 3T =1 98 TR 4 hiNT T IcTesh i 3Tferehan oy
o (Hura @ra SR d@mr gt fafer w1 oy fifse) | et 3 % fou
HIT T |

3IcqTeH (3ehT3aT) 1 2 3 4 5
FA A () 9 17 | 24 | 29 | 36
FA T (T) 11 | 20 | 27 | 32 | 85
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From the following data find out the level of output that will give the
producer maximum profit (use marginal cost and marginal revenue
approach). Give reasons for your answer.

Output (units) 1 2 3 4 5

Total Cost (%) 9 17 24 29 36

Total Revenue (%) 11 20 27 32 35

15. YOI STCUTUhRR 37X STUl Ui o i< 3T Sd1sy | STeTashR hl “wal

o o WER AT famwar b saren ff hifs | 6
arraT

Teh qTfcIeh shl TERIAT & A 3TMUe 3R g oTived % 1 FWemsy |

T hiFd W 99T 6l =Reat HIT | 6

Distinguish between perfect oligopoly and imperfect oligopoly. Also
explain the “interdependence between the firms” feature of oligopoly.

OR
Explain the meaning of excess demand and excess supply with the help
of a schedule. Explain their effect on equilibrium price.

wus d
SECTION B

16. TSEd =1 <kl gftamr difSu | 1

Define revenue deficit.

17. 3 Ham=a 3w yafa dwra s vafn @ e ifus 8, @ o & g (T

foehe giHn) 1
(1) 29 AfYs g

(F) 29 FHF B

(®) 2 SIS B

() 5% RIS &
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19.

20.

21.
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If the marginal propensity to consume is greater than marginal
propensity to save, the value of the multiplier will be (Choose the correct
alternative)

(a)  greater than 2
(b)  less than 2

(c) equal to 2

(d equalto5b

H SIS W A & (We) forehed gw)
(31) =d QAT SHE AR qEfy SHe

(9) o=a @rar SHE R =T G SHd

(&) =1 wren ST A ety smn

(3) @i wehr s S

Demand deposits include (Choose the correct alternative)
(a)  Saving account deposits and fixed deposits

(b)  Saving account deposits and current account deposits
(c) Current account deposits and fixed deposits

(d)  All types of deposits

< 5T o odsTd o1 o1 o7 § ?

What is meant by depreciation of domestic currency ?

Hia = vt 6 i G |

Define marginal propensity to save.

i 3 JaTE U He hifSTT | Tcdh hl Teh 3T ST |

Distinguish between stocks and flows. Give an example of each.

&g fafm Joreft < T=aid ST aTet “@wafy F=F i H Shicdrs . GHET i
HHATRT |

arera
o1 & “fafa 1 memm” R augms |
8
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24.

25.

26.
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Explain “difficulty in storing wealth” problem faced in the barter system
of exchange.

OR

Explain the “medium of exchange” function of money.

TcI&T hll 3T TAIET hll H e HIT | Ik T Teh IS ST |

Distinguish between direct taxes and indirect taxes. Give an example of
each.

T AdFTEAT Tdor H 7 | FfaRaa stieei & €md s=a yafa w1 aienad
HIT :

(31) 3 =10,000

(9) T IUHE = 500
(@) 39T =T = 8,000

q

An economy is in equilibrium. From the following data, calculate the
marginal propensity to save :

(a) Income = 10,000
(b)  Autonomous consumption = 500

(c) Consumption expenditure = 8,000

Hl Sk o IRl HT Sk hI hl AT HIfTT |
AT
TfoTfS¥reh Senl g0 | fAwtor <hi Ufshan <A1 same hiflv |

Explain the “bankers’ bank” function of the central bank.

OR
Explain the process of credit creation by commercial banks.

T T Goi T HH et Gofira et @ gt € 2 v wiftai W @ e
Qfs |

What are non-debt creating capital receipts ? Give two examples of such
receipts.

9 P.T.O.
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YA Hgad oi@l o (31) 9o @rar 3R YSiia @ & &=, 9901 (§) @ad
(Tamra) gl IR TuTeH 3q Higl o s 9g i |

Distinguish (a) between current account and capital account, and
(b) between autonomous transactions and accommodating transactions
of balance of payments account.

= fafr g wfie ot 1 STehe a THT S GrauTET SRl S =tEy
Ieh! SATEAT HIfT |

AT

w1 ffeafiga =1 YR & @ Icare J wfae foram Smom 2 3199 3 & foig
I T |

(1) wrd #H forgef el grr stfsia aw
(§) 9NG H & gaEE § HRRA WRART % ofdd
(@) YR T S hl AH | Teh 1@ gRT A oy

Explain the precautions that should be taken while estimating national

income by expenditure method.

OR

Will the following be included in the domestic product of India ? Give
reasons for your answer.

(a)  Profits earned by foreign companies in India
(b)  Salaries of Indians working in the Russian Embassy in India

(c) Profits earned by a branch of State Bank of India in Japan

10
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(31) IR oI W Hhd TPH 391G, a1 (9) FHoa T sasa o™ &

qieher _mplﬁm :

(i) =TT 1 qTisfies
(i) oM™

(iii) E@fERar i Wfa om
(iv) ERR =W 399 =
(v)  Tortmnm

(vi) &N

(vii) forgen & faa s o
(viii) fagert =l Faa =me geamaw
(ix) Taa e

(x) HIBH

(xi) Tree fma

(¥ &gl 7)

2,500
700
7,500
3,000
400
350
50
100
150
70
40

Calculate the (a) Gross National Product at market price, and (b) Net
National Disposable Income :

)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(%)
(xi)

Compensation of employees
Profit

Mixed income of self-employed

Government final consumption expenditure

Rent
Interest

Net factor income from abroad

Net current transfers to abroad

Net indirect taxes
Depreciation

Net exports

11

(¥ in crores)

2,500
700
7,500
3,000
400
350
50
100
150
70

40
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30. Tou 7U 39T 36 W S=d s UTed i 7 ToTC ST dTel hgHl shl TR T
ST | @i w1 = KIS |

Given a consumption curve, outline the steps required to be taken in
deriving a saving curve from it. Use diagram.

Fig:  [Arfkiiad o7 Faci gRg ahemear & g o7 §&97 30 @ T W8

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 30.

TSR A Aqad il dehfeush 31d aarsy | Afg refeyasen gged | 7 |1,
FT B <h! U Bid] & 2 THHATST |

Give two alternative conditions of national income equilibrium. Explain
what is likely to happen, if the economy is not in equilibrium.
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